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TIME ALLOWED: 145 Hours SUBJECTIVE ¥l £ia5 =
MAXIMUM MARKS: 40 40 = AF

NOTE: Write same question number .4.61);(4-{4':’125{ EI’AZJ’MU"L”{Q(Q& -2

and its part number on answer book, as given in the question paper.

SECTION-I

2. Attempt any four parts. 8=2x4

0] What is meant by Document a Program?

(i)  Define Syntax Error.

(i)  Whatis IDE?

(iv)  What is meant by Character Set in GW-BASIC?
(v}  Define KILL Command and write down its syntax.

(vi) Define INPUT statement and write down its syntax.

3. Attempt any four parts. 8§=2x4
()] Differentiate between simple and subscript vartab[\e

(i}  Define Index.

(i)  What is meant by 2-D array?

(iv)  Write the definition of subroutine,

(v) What is String Function?

(vi)  Write the purpose and syntax of RND ( ) function.

4. Attempt any four parts. 8=2x4

(i) How instructions are executed in sequence structure?
(i)  What is meant by Pixel?

(i)  What is meant by Word Processor?

(v)  What is meant by Tool Bar in MS-Word?

(v) Differentiate between Cut and Copy.

(vi)  What is meant by Text Editing?
SECTION-II (222

NOTE: Attempt any two questions. 16=8x2
5 Define Flowchart Write down the limitations and
advantages of a flowchart.

6 Explain the working of IF —- THEN

and IF — THEN - ELSE statements vath one exampie
7. Define LINE statement.

Write Its syntax and explain it with example.
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Note: you have four cholces for each objective type question as A, B, C and D. Tﬁo choice _;(M);raulr

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in tfiat question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this shest of OBJECTIVE PAPER.

Q.No.1 -1 ﬁUﬂr

(1) The technique "Dwide end Conquer” is use o solve: -J_‘!L/U\-"’L“LL/J L .QE‘J % :/’am/’(-j ” (1)

COMPUTER SCIENCE GROUP-I

TIME ALLOWED: 15 Minutes OBJECTIVE ﬁ/‘/

(A) Simple problems Jl-sl-  (B) Complex problems Jinas  (C) Large problems Jfire

{D) Complex and large problems J'Ve:mh.g:
(2) A variable name must start with asan: &gl Uy 2)
(A) Alphabet <-4  (B) Underscore < »k! (C) Digit = o7}
(D) Alphabet or underscore P oY b el

g PSS St sl itn ()

continues the program whose execution was terminated tenipﬁi'_aﬂty?

(3) Which of the following command

(A) CONTINUE " (B) CONT (C) RESTART (D) START

(4) FOR—--NEXT statement is used for. gL SN FOR—NEXT  (4)
(A) lteration L. L7 (B) Selection & £ o6 (C) Sequenoe‘é&f'} (D) All these (Vi

(5) An element of an array is mentioned by its: -u_?L/}d»' LJ![JZLLI'-{' (5)

(A) Subscrpt e g F o (B) Array ec (C) Object = 551 (D) Name of elemente (tL o/

(6) SQR function is used for et saR  (8)

(A) Random vaiue & L& €kyrle.
(C) For square root & L2 6.4

(B) Foriog « L& € log
(D) For date & £ sbo.t

(7) The output of Fix(-7.08): -e2¢ Fix(-708)  (7)
(A 7 (8) =7 (C) 7.09 (D)-7.09

(8) We can draw with CIRCLE statment FEF e S CRCLE (8
{A) Line (B) Box % (C) Ellipse JFrx (D) PSET

(8) CTRL+ X is used for: - bt CTRL+X  (9)
(A) Copy (¥ (B) Cut & (C) Save s (D) Undo sl

(10) Microsoft Word is a program. ..;..(I£< I © ¢ InedmFl (10)

(A} Word Processing sz iss
(C) Operating system /& /7

(B) Anti Virus 7!

(D) Spread sheet =% =
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NOTE: Write same question number .q_b»gﬁH.Jlrﬁ{.": Z-,J:/:;:anf.zdlnfs{db’dlﬁ -d

and its part number on answer book, as given in the question paper.
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TIME ALEOWED: 1.45 Hours

SECTION- Jieo
2. Attempt any four parts. 8=2x4 .,{;/’.;;Le&lzuyc_df 240y
()  Define Algorithm. Lot AR )
(i} What is meant by syntax of a programming language? feslle lilin [.é r‘e‘.&vc{ (i
(i)  What is meant by "Reserve words™? S rgyfswld;‘/.:_ RS (i)

(iv)  Write the use of Relational Operators.

{v)  Wirite the syntax and purpose of SYSTEM command.
{vi) Explain indirect mode in GW-BASIC
3. Attempt any four parts.

(i) Define Array,

B=2x4

LA ;_;.4:1.)"%1
I Sikinn KIS SYSTEM
S Aenl kst d

{iv)
(v)
(v1)

& feelzvee 8 3 0

LA s

i)

(i)  Define 1-Dimensional array. LIS e W
(i)  What is meant by Array Manipulation? Yo i o’-’;i dei i)

(iv) Define Modules

(v)  Define the purpose of SQR function
(vi) What is the difference between Sequential files and Random files?
4. Attempt any four parts. 8=2x4
() Why is GOTO statement used?

(i) Describe the purpose of SCREEN statement in Basic.

(i)  State the procedure to load MS-WORD.

{iv)  What is Tool bar?

(v)  Write the procedure to copy and paste text in MS-WORD,

(vi}  Write the names of two views in MS-WORD.

SECTION-II (s

NOTE: Attempt any two questions. 16=8x2
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5. What is problem solving? Briefly describe any three steps . =i b WE L tenpfe JL i -5
of prablem solving.

6.  Define FOR - NEXT LOOP. Uiy Sestnd kbl S /s /S) FOR —NEXT -6
Explain its syniax and give example.

7. Write the purpose of DRAW statement and LS NS S NS DRAW LT

expiain it with exampie.
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Note: you have four choices for each objective type question as A, B, C and D. The choice -Qf.',d'}fm.mr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 =1 Xdlr
(1) Division by zero is: _‘.-_(:";_ o (1)

(A) Syntax Error /1 ,&disw  (B) Logical Error /8y
(C) Runtime Error /{l('tu/ (D) Not an Error \,dim;f
(2) Which of the following is a type declaration character te b Sl Sadif el b g atl  (2)

for Integer variables?

(A) | (B) % (c) # D s

(3) In GW-BASIC, a short key to load a program is: e el SE SISt d (3
(A) F1 (B) F2 (C) F3 (D) F4

(4) Which of the following is not a Logical Operator? ‘-‘.agﬁ; ,A{:'u‘."l‘ Ve L (4)
(A) AND (B) OR (C) NEITHER (D)NOT

(5) Dimension statement uses the keyword ______ - b el indd L5 (5)
(A) DMS (B) DS (C) DIM (D) DM

(6) The _____function Is used to convert et LSt e o ason € (@)

ASCII codes to its character equivalent.

(A) CHRS () (B) CHR () (C) CHAR (D) CHRS ()

(7) The output of function FIX (=~7.09 ) is: ez FIX(=700) 5 (@)
(A) =7 (B) =9 (C)~8 (D) -6

(8) The CIRCLE statement can also be used to draw: REGarfc S CIRCLE  (8)
(A) LINE ofU (B) Ellipse F v (C) Box 7} (D) PSET

(8) Which keyboard shortcut is used to make selected word bold? ‘et eI e b LSVl L2 Jiifinnd  (8)

(A)CTRL + SHIFT+B  (B) SHIFT +B (C)ALT + B (D) CTRL + B
(10) The keyboard shortcut to print a document in MS-Word is e e LS RL S el s A (10)
(A)CTRL + P (B)CTRL+C (C)CTRL + D (D) CTRL +Z
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